;> assume(n, integer);
> int(sin( (2:nt1)Pix j,x=0..a);
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> —int(sin( (2on+1)-Prx ),xZ—a..O);
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> g= (x, NN) >+ +16-sum(sin( Lo LBy ) : . ,'n'=0..NN);
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> plot([evalf (g(x,0)), evalf (g(x,10)) L x=-1..1);
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> f = x—piecewise(x <-1,0,-1 <x<0,-1,0<x<1,1,0);
)



f=x—piecewise(x < -1,0, -1 <xand x <0,-1,0 <x and x <1, 1,0) “)

> v -':x—)piecewise(x <-1,0,-1 <x < 0,3.4~%-(1 +x)2,0 <x < 1,3.4-(1—%-@—1)2),
3.4);
v:=x—>piecewise(x <-1,0,-1<xand x <0,34 ; (1 +x)2,0 <xand x <1,34 [1 )
—; (x—l)zj,3.4j
> vs = x—piecewise(x <-1,0,-1 <x < 1,evalf(g(x,0)-3.4),3.4);
vs :=x— piecewise(x < -1,0, -1 <x and x < 1, evalf(g(x,0)-3.4),3.4) (6)

> plot([ f(x),v(x),vs(x)],x=-2..2, color = [ black, blue, green], thickness =2, gridlines = true);
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